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Shading redgions on Yenn diagrams

1) On the diagram on the right,
shade the region ATTE'

21 0n the diagram on the right,
shade the region (A L E) M C

21 0n the diagram on the right,
shade the region AU (B M C




Froblems involving numbers in sets

10 Out of 2% students in aform, 10 study Art, and 14 study
Spanish. 7 students study neither. How many study Spanish but
not At

10-7% X + (G- &+ 7 = 25 A o
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21 All students in a year study at least one science. 19 study
Fhysics only, 12 Biology only and 15 Chemistry only. © study
Fhysics and Biology only. 7 study FPhysics and Chemistry, 23
stucy Chemistry and 25 study Biology. [Hint the word "only” does
not appearin the previous sentencel] How many students study
Fhysics and Chemistry but not Biology??

C.ke.cw»s\n e ¢

\S + 7-% +x +3=13
LU + Y =23
3:\
%~-\°¢33 oML ¢
IL+b +#% 4+ =2AS

194 3¢ =4S
>x = b

| shadtk shodies © e € ok wor R

O — -




